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\ Ho. of standard deviations frem the mean ‘ U

1s Amormalidistibutionhayarmean of 16 anda,6 standard deviefion.

) BBiweeh wWich fwo vaives do 95% of the datafalle

distibufed with.a mean of 72 and a standerd devigtion of 3,

e

d) What parcent of rien-dis betwasen 70 drid 722

bj Whiit percent of men are ot lsast 76 inchies 8




3. When asked how long thiey waited inline{in minutés) dt a grocery
store, ten people responded: 14, 5,15, 4,10, 3, 7,3, 5, and 2.

@) What isthe mean wait iime?

b) Do the dota seem tobe n..o.tm.clly ‘di{s;__,’rr'ib_ufre;d? Explain.

4. Andrew Is ‘anglyzihg ‘anormal dishibution but the data provided
is incomplete, He knows the mear s 120 and that 84% of the
data are less than 130. What is the standard deviation?

5. Solve the following system, algebraically, if 3x + 2y =8 dnd
Ix—dy=14 .




6. 2000 freshmen at State University took a biology test. The scores weredistibuted

normally with ‘a mearn of 70:and o standard devidgtion.of 5, Label the mean: and
three sfandard deviations fromi the mean,

) What percentage of seores are between scores 65 and 75%.

b) What percenfq_geﬂof scores are belween scores 60 and 707

¢) What peréentage of scores arg bistwesn scores 40 aid 852

d) What percentage of scores is less than a score-of 5§52
.e‘)'thi*perceniqgeso'f' scores is greater thar a'score of 802

) Approximately how rmany biology students scofed batween 60 and 702

') ﬁp_proxima_telyzhow.many'- blology students scored between 55 and 602

Ty this ong. ..
7. Here are the scores fof o recent test n.a college statistics class.
90 90 95 100 80 80 7580 7060 25 100 100°100.75 8090 90 90 70.70.80.85 90 90.85

KMedian = Meon = Mode =
fS"rd'ndard Deviation = Variance =
How many scores are within 1 standard deviation of the means _

How many scores are within 2:standard deviations of the mean?







